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(Q1) [10 points| Answer by True (T) or False (F)

(1) . T tAisa symmetric nonsingular matrix, then A~! is also symmetric.

(2) . N Az =bisa2x4 system and b = ap — 3as, then Az = b has infinitely many solutions.
(3) . "\.. If Aand B are n x n diagonal matrices, then AB = BA
(

4) .. F If A and B are two matrices such that AB and BA are both defined, then A and B must be
square matrices.

—"
8) s \.. If A is nonsingular, then A7 is nonsingular.
6 F . If A is an n X n nonsingular matrix and « a real number such that « # 0, then (ad)™! = aA™!
7) e IE A is a n X n nonsingular matrix, then A? is also nonsingular.

8) .~Y.. If B is a square matrix such that B®> = I, then B~ = B

(

(

(

(

(9) .7Y... Every diagonal matrix is symmetric.

(10) . F . If Az =01is a 3 x 3 system and a; = ay + ag, then Az = 0 has a unique solution.
(11) ...f=. If A and B are symmetric matrices, then AB is also symmetric.

(123} . . F If A and B are n x n singular matrices, then A + B is also singular.

(

13} .. F CIfa homogeneous system has infinitely many solutions, then it must contain more unknowns
than equations.
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9) . F If A and B are symmetric matrices, then AB is also symmetric.
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11) T Every diagonal matrix is symmetric.
)
) .

r If Az =01is a 3 x 3 system and a; = ay + ag, then Az = 0 has a unique solution.



